{4 REB THRIZEROFESRN)
| f(x) = 2t + ax® + ba? + cx + d 1 FFEBURE D 4 !

|

Iﬁ%ﬁ?%é.%ﬁy=fu)ﬂﬁﬁé2ﬁvﬁﬁl

| M (EER) DEET 2200 E+H55010F |
() =0RE2 200EKMEEH O L TH %.J

[RERR] HEED X 9 127 % 7= O DT 5tF1d
f@)—(mx+n) =2+ pr+q)2 pP—49>0
ERDER D, g mnHEIETHIETHS, bL,

DEHETZ Lo, 2MBHI LT
(@) =2Qx + p? +4(2* + px + @)
f(x) = 1222 + 12px + 2172 FAg ceeeeeeneeens D

COHHIAXE D ELT

—%:ﬂﬂﬁ—4®>0

Es, f7(x) =0 3 HR L 2E B2 O,
—7, f(x)=zx*+ax® + b2’ +cx+d % 2[5 L
S
F7(x) = 1222 4 6ax + 2D vvvvvvrerrreeeeeaaininnns ®
&b, ©, @ D%k R
6a = 12p, 2b = 2p* + 4q
Thob
%2135,

f(x)—<x2+ 2x+% %)2

=z'+tar® +b2’+cxr+d

2 b ai)z
<x+2r+2 3
Z R IUE
ab at | a*h b
(C—7+?>“d—a+T—T
LB 5, 1HR
_(._ab & _at | db _ V¥
y*<c 2*’8>I+d 6178 1

DR E 75 B,

Mty = f(x) & 2Bl Lo SO d 2 1500 2 HE
v, NI, FEEHT f(x) PMIVRETH %
T EIFHIHE &1 LTl
A REB DA 513, BEEROFES
f(x) = 0 DFDOMEEEHE DD, 4%&0)55%(&
%5 L, BEROGEEL 7(2) = 0 DD L
u,%%+ YD TRV O, e AR
flx) = 1+ T R =03 200RLLEEL D
2, BHERIITIEL 2\, 26, HERDTET 51
S DB AR HUCE C 2 EIETE RV, A
Bgch LiFug (0% h 2 2 TEMOWRETR ), 2

A2 5T 7 (x) > 0 TH o T b EEERAHEE
T2HZRTIEIFTES, FEEMHT 2 R TTREZ
513, HEERPEHET 2012 f7(x) =028 3 2
b O LIIMEEG L5, TaLiEvikn,



